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Ex. 2.60

L = P0 + tv

= (x0, y0, z0) + t(a, b, c)

x = x0 + ta → t =
x− x0

a

y = y0 + tb → t =
y − y0

b

z = z0 + tc → t =
z − z0

c

Ex. 2.66

Be definition of a slope, We have two points on the line: (x0, y0) and (x0 + 1, y0 +m).

By page 640, We take the directional vector: v = (x0 + 1, y0 +m)− (x0, y0) = (1,m).

Thus,

x = x0 + (1)t → t = x− x0

y = y0 + (m)t → t =
y − y0
m

Hence, The symmetric form is satisfied.
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Ex. 2.67

O⃗A = v

O⃗A′ =
1

2
(w − u) + u

=
1

2
(w + u)

O⃗A′ − O⃗A =
1

2
w +

1

2
u− v

Taking 2/3 of it: 2
3(O⃗A′ − O⃗A) = 1

3w + 1
3u− 2

3v.

P is the terminal of vector: v + 1
3w + 1

3u− 2
3v = 1

3w + 1
3u+ 1

3v.

Symmetrically, Taking 2
3 of segments BB′ and CC ′ yields the vector 1

3w + 1
3u + 1

3v,
and thus point P lies on the other two medians as well.
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